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1. A solid with uniform density is obtained by rotating around the y-axis the region bounded by
the x-axis, the y-axis, and by y = (x — 1)2. (a) Sketch the solid. (b) Find its volume. (c) Find y, i.e.,
y-coodinate of the center of mass.




2. Do the following sequences converge or diverge? If a sequence converges, find its limit.
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3. Do the following series converge or diverge?
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4. Find the radius of convergence of the following power series.
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5. Find the interval of convergence of the Z (= 1)
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6. Find the approximate value of 1.471/2 using the 3rd degree Taylor polynomial approximating
1

near x = 0.
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7. Find the Taylor series for cos(v/1+x— 1) about x = 0 up to x> (inclusive) terms.
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